








Lecture Summary :-

• Alphabetical Series

• Pair based Question

• Inequality ( Normal & Reverse ) 

• Coding – Decoding

• Syllogism 

• Blood relation based puzzle

• Circular Based Sitting ( Inside Outside )

• Arrangement based puzzle

• Uncertain based Sitting Arrangement (Linear & Circular )

• Floor Based Puzzle

• Square Based Sitting Arrangement 

• Compare Based Puzzle 



234 657 283 647 994

Q . If all the digits in each of the given numbers are arranged in ascending 

order within the number, which will be highest number thus formed?

यदि िी गई प्रत्येक संख्या में सभी अकंों को संख्या के भीतर आरोही क्रम में व्यवदथित दकया

जाता ह,ै तो इस प्रकार बनने वाली सबसे बडी संख्या कौन सी होगी?

A. 234

B. 657

C. 283

D. 647

E. 994



234 657 283 647 994

If the first and last digit of each number is interchanged with each other, 

which will be the smallest number thus formed?

यदि प्रत्येक संख्या के पहले और अदंतम अकं को आपस में बिल दिया जाए, तो इस प्रकार बनने 

वाली सबसे छोटी संख्या कौन सी होगी?

A. 234

B. 994

C. 657

D. 647

E. 283



234 657 283 647 994

When all the digits in each number is multiplied with each other, the product 

of which of these numbers shall be the greatest?

जब प्रत्येक संख्या के सभी अकंों को एक िसूरे से गणुा दकया जाता ह,ै तो इनमें से दकस संख्या का 

गणुनफल सबसे बडा होगा?

A. 234

B. 657

C. 283

D. 647

E. 994



234 657 283 647 994

If the digit at one’s place of the largest number is added to the digit at 

hundreds place of the smallest number. What will be the sum of the two 

numbers?

यदि दकसी के थिान पर सबसे बडी संख्या के अकं को सबसे छोटी संख्या के सौ के अकं में जोड 

दिया जाए। िोनों संख्याओ ंका योग क्या होगा?

A. 12

B. 6

C. 8

D. 23

E. NOT



How many such pairs of letters are there in the word ‘ENTHUSIASM’, each of 

which has as many letters between them in the word (both forward and backward 

direction) as they have between the English alphabetical series?

शब्ि 'ENTHUSIASM' में अक्षरों के ऐसे दकतने जोडे हैं, दजनमें से प्रत्येक के बीच शब्ि

में (आगे और पीछे िोनों दिशाओ ंमें) उतने ही अक्षर हैं दजतने दक अगं्रेजी वणणमाला श्रखंला 

के बीच हैं?

1.Two 2.Three  3.Four  4.one   5.More than 4



What will be the difference between the sum of all the even digits and 

the sum of all the odd digits of the given number ‘81247563’ ?

िी गई संख्या '81247563' के सभी सम अकंों के योग और सभी दवषम अकंों के योग के 

बीच का अतंर क्या होगा?

1.2

2.8

3.4

4.5

5.9



Statements : C < L ≥ K < H ≤ F < S > X 

Conclusions: I. K < S

II. F> X 

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : Z > G < J ≥ V = X < C ≥ A 

Conclusions: I. C > A

II. C = A 

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : K ≥ L ≥ H < D = C < S < R > J 

Conclusions :I. D < R

II. K > H 

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Conclusions (I) 22 > 19 (II) 22 < 11

Statements –

(1) 20 > 11 > 6 > 4 < 22 < 19

(2) 20 > 11 > 6 = 22 > 2 = 19

(3) 20 > 11 > 6 > 22 < 19 >

(4) 20 < 11 > 6 > 22 > 19 > 2

(5) 20 > 11 < 6 > 22< 19 > 2



Conclusions - (I) 13 > 9 (II) 26 >13

Statements -

(1) 26 > 1 > 13 > 14 > 18 > 9

(2) 26 > 1 < 13 > 14 > 18 = 9

(3) 26 > 1 > 13 > 14 > 18 > 9

(4) 26> 1 > 13 > 14 < 18 > 9

(5) 26 > 1 > 13 > 14 < 18 > 9



Conclusions - (I) 5 > 4 (II) 3 > 4

Statements -

(1) 11 < 3 > 5 < 25 > 4

(2) 11 < 3 > 5 > 25 > 4

(3) 11 < 3 > 5 > 25 < 4

(4) 11 < 3 < 5 > 25 > 4

(5) 11 < 3 > 5 < 25 > 4



In a certain code language “CONSTRUCTION” is written as 

“EMPQVPWAVGQL”. What will be the code for “DESTRUCTION” in the 

same language?

एक दनदित कूट भाषा में “CONSTRUCTION” को “EMPQVPWAVGQL” दलखा 

जाता ह।ै उसी भाषा में “DESTRUCTION” के दलए कूट क्या होगा?

1. FCURTSERKNP

2. EFTVSVDVJPO

3. FCURTSFSLOQ

4. None of the above

5. Cannot be determined



In a certain code language, SQUARE is coded as WSUCPY then how will 

CIRCLE be coded is the same code language? 

एक निनित कोड भाषा में, SQUARE को WSUCPY के रूप में कोनडत नकया गया है, 

निर CIRCLE को कैसे कोनडत नकया जाएगा समाि कोड भाषा है?

(1) TKEJCA 

(2) TEKJCA

(3) TKECJA

(4) TKECAJ

(5) None of the above



Statements –

Only a few animal are cat.

Some animal are dog.

Conclusions-

I. All Cat are animal.

II. Some cat are Dog.

किन –

केवल कुछ जानवर दबल्ली हैं।

कुछ जानवर कुत्त ेहैं। 

दनष्कषण-

I. सभी दबल्ली जानवर हैं। 

II.. कुछ दबल्ली कुत्त ेहैं।



Statements –

Only a few animal are cat.

Some animal are dog.

Conclusions-

I. All Cat are animal.

II. Some cat are Dog.



Statements –

Only a few Sea are River

All River are Water bodies

Conclusion :

I. Some Sea are Water bodies.

II. All sea are River

किन –

केवल कुछ सी ररवर हैं |

सभी ररवर वाटर बॉडी हैं |

दनष्कषण : 

कुछ सी वाटर बॉडी हैं। 

सभी सी ररवर हैं |



Statements –

Only a few Sea are River

All River are Water bodies

Conclusion :

I. Some Sea are Water bodies.

II. All sea are River



Statements –

No Door is Table .

Only a few Wood are Table.

Conclusions-

I. All Door are Wood.

II. Some Door are not Wood.

किन –

कोई डोर टेबल नहीं ह।ै 

केवल कुछ वडु टेबल हैं। 

दनष्कषण-

सभी डोर वडु हैं|

कुछ डोर वडु नहीं हैं। 



Statements –

No Door is Table .

Only a few Wood are Table.

Conclusions-

I. All Door are Wood.

II. Some Door are not Wood.



Statements:

All Desk are Jungle.

All Jungle are Mountain.

Conclusions:

I. No Jungle is Mountain.

II. Some Mountain are Desk.

किन: 

सभी डेथक जंगल हैं। 

सभी जंगल माउंटेन हैं. 

दनष्कषण: 

कोई जंगल माउंटेन नहीं ह.ै 

कुछ माउंटेन डेथक हैं. 



Statements:

All Desk are Jungle.

All Jungle are Mountain.

Conclusions:

I. No Jungle is Mountain.

II. Some Mountain are Desk.



There are 8 members P, Q, V, R, T, B, Z, 

and S in a family. P is the Husband of V, 

who is the mother of S. Q is a male, who 

has only one child. Q and S are siblings 

of the same gender. B is the brother of 

V. R is the sister of Z, who is the mother 

of T. T is the daughter of Q. 

How is T related to S? 

1.Niece

2.Brother 

3.Sister 

4.Aunt 

5. Nephew

P, Q, V, R, T, B, Z और S हैं। P, V का 

पदत ह,ै जो S की माता ह।ै Q एक परुुष ह,ै 

दजसकी केवल एक संतान ह।ै Q और S समान 

दलंग के भाई-बहन हैं। B, V का भाई ह।ै R, Z 

की बहन ह,ै जो T की माता ह।ै T, Q की पतु्री 

ह।ै 

T, S से दकस प्रकार संबंदित ह?ै 

1. भतीजी 

2. भाई 

3. बहन 

4. चाची 

5. भतीजा 



There are 8 members P, Q, V, R, T, B, Z, 

and S in a family. P is the Husband of V, 

who is the mother of S. Q is a male, who 

has only one child. Q and S are siblings 

of the same gender. B is the brother of 

V. R is the sister of Z, who is the mother 

of T. T is the daughter of Q. 

How is T related to S? 

1.Niece

2.Brother 

3.Sister 

4.Aunt 

5. Nephew



Eight people P, Q, R, S, T, U, V and W 

buy different items but not necessarily 

in the same order. Two people buy 

items between P and S. One person 

buys between T and Q. T buys an item 

before Q. At least two people buy after 

Q. Three people buy items between V 

and Q. V neither buy at first nor at last. 

The number of persons buy items 

before T is same as the number of 

persons buy the item after W. Two 

people buy item between W and P. R 

buys before U. 

आठ व्यदि P, Q, R, S, T, U, V और W 

अलग-अलग वथतएु ँखरीिते हैं लेदकन आवश्यक 

नहीं इसी क्रम में हों। िो लोग P और S के बीच में 

सामान खरीिते हैं। T और Q के बीच एक व्यदि 

खरीिता ह।ै T, Q से पहले एक वथत ुखरीिता ह।ै 

Q के बाि कम से कम िो लोग वथत ुखरीिते हैं। V 

और Q के बीच तीन लोग वथत ुखरीिते हैं। V न तो 

पहले खरीिता ह ैऔर न ही अंत में। T से पहले 

वथत ुखरीिने वाले व्यदियों की संख्या W के बाि 

वथत ुखरीिने वाले व्यदियों की संख्या के समान ह।ै 

W और P के बीच िो व्यदि वथतु खरीिते हैं। R, 

U से पहले वथत ुखरीिता ह।ै 



Eight people P, Q, R, S, T, U, V and W 

buy different items but not necessarily 

in the same order. Two people buy 

items between P and S. One person 

buys between T and Q. T buys an item 

before Q. At least two people buy after 

Q. Three people buy items between V 

and Q. V neither buy at first nor at last. 

The number of persons buy items 

before T is same as the number of 

persons buy the item after W. Two 

people buy item between W and P. R 

buys before U. 



Eight people P, Q, R, S, T, U, V and W 

are sitting around a square table in such 

a way that four of them sit at four 

corners of the square while four sit in 

the middle of each of the four sides. 

People who are sitting at the corner are 

facing outside the center while people 

sitting in the middle are facing the 

center. R sits second to the right of V. 

Only one person sits between R and W. 

P is not an immediate neighbor of W 

and does not sit at corner. Q faces S 

who sits immediately to the left of U

आठ व्यदि P, Q, R, S, T, U, V और W

एक वगाणकार मेज के चारों ओर इस प्रकार बैठे 

हैं दक उनमें से चार वगण के चारों कोनों पर बैठे 

हैं जबदक चार , चार भजुाओ ंमें से प्रत्येक के 

मध्य में बैठे हैं . कोने पर बैठे लोगों का मखु

कें द्र के बाहर की ओर ह ैजबदक बीच में बैठे 

लोगों का मखु कें द्र की ओर ह.ै R, V के िायें

से िसूरे थिान पर बैठा ह।ै R और W के बीच 

केवल एक व्यदि बैठा ह।ै P, W का 

दनकटतम पडोसी नहीं ह ैऔर कोने पर नहीं 

बैठा ह।ै Q का मखु S की ओर ह ैजो U के 

ठीक बायें बैठा ह ै



Eight people P, Q, R, S, T, U, V and W 

are sitting around a square table in such 

a way that four of them sit at four 

corners of the square while four sit in 

the middle of each of the four sides. 

People who are sitting at the corner are 

facing outside the center while people 

sitting in the middle are facing the 

center. R sits second to the right of V. 

Only one person sits between R and W. 

P is not an immediate neighbor of W 

and does not sit at corner. Q faces S 

who sits immediately to the left of U



Seven persons, A, B, C, D, E, F and G 

go to movies on different days of the 

week starting from Monday to Sunday 

but not necessarily in the same order. 

One person goes between G and C, A 

goes before C. G goes on Friday. D 

goes on the second day of the week. 

Three persons go-between D and F. B 

does not go on Monday or Thursday. 

The number of persons who goes after 

C is equal to the number of persons go 

before G. 

सात व्यदि, A, B, C, D, E, F और G

सोमवार से रदववार तक सप्ताह के अलग-अलग 

दिनों में दफल्मों में जाते हैं लेदकन जरूरी नहीं दक 

इसी क्रम में हों। G और C के बीच एक व्यदि 

जाता ह,ै A, C से पहले जाता ह।ै G शकु्रवार को 

जाता ह।ै D सप्ताह के िसूरे दिन जाता ह।ै तीन 

व्यदि-D और F के बीच जाते हैं। B सोमवार या 

गरुुवार को नहीं जाता ह।ै C के बाि जाने वाले 

व्यदियों की संख्या G से पहले जाने वाले 

व्यदियों की संख्या के बराबर ह।ै 



Seven persons, A, B, C, D, E, F and G 

go to movies on different days of the 

week starting from Monday to Sunday 

but not necessarily in the same order. 

One person goes between G and C, A 

goes before C. G goes on Friday. D 

goes on the second day of the week. 

Three persons go-between D and F. B 

does not go on Monday or Thursday. 

The number of persons who goes after 

C is equal to the number of persons go 

before G. 



A certain number of persons are sitting in the row. All of them are facing towards 

north. I sits seventh from the left of V. C sits to the left of A. Only three persons 

sit between G and A. L sits fourth to the right of K. I sits one of the place between 

E and K. A sits fourth to the left of I. K is seventh from the right end of the row. 

Nine persons sit between G and K. There are nine places between C and E. A is 

eight from the left end. G and I is not neighbor. 

एक निनित संख्या में व्यनि पंनि में बैठे हैं। ये सभी उत्तर की ओर म ंह नकए हुए हैं। I, V के बाए ंसे

सातवें स्थाि पर बैठा ह ं। C,A के बाई ंओर है। केवल तीि व्यनि G और Aके बीच में बैठे हैं। L, K 

के दाई ंओर चौथा बैठता है। I, E और K के बीच में कहीं एक स्थाि पर एक बैठता है। A,I के बाई ं

ओर चौथे है। पंनि के दाए ंछोर से K सातवााँ है। िौ व्यनि G और K के बीच में बैठते हैं। िौ व्यनि

C और E के बीच में बैठते हैं । पंनि के बाए ंछोर से A आठवााँ है। Gऔर I पडोसी िहीं हैं।



A certain number of persons are sitting in the row. All of them are facing towards 

north. I sits seventh from the left of V. C sits to the left of A. Only three persons sit 

between G and A. L sits fourth to the right of K. I sits one of the place between E 

and K. A sits fourth to the left of I. K is seventh from the right end of the row. Nine 

persons sit between G and K. There are nine places between C and E. A is eight 

from the left end. G and I is not neighbor.



There are six poles i.e. J, K, L, M, N and O of different lengths. Pole 

O is longer than pole M. Pole K is longer than pole O. Pole K is 

shorter than only pole N. Pole J is longer than pole O. Pole M is not 

the shortest pole. The length of 2nd longest pole is 62cm and 3rd 

shortest pole is 35cm.

अलग-अलग लंबाई के छह ध्र व यािी J, K, L, M, N and O हैं। ध्र व O ध्र व M 

की त लिा में अनिक लंबा है। ध्र व K ध्र व O की त लिा में लंबा है। ध्र व K केवल 

ध्र व N से छोटा है। ध्र व J ध्र व O की त लिा में अनिक लंबा है। ध्र व M सबसे छोटा 

ध्र व िहीं है। दूसरे सबसे लंबे पोल की लंबाई 62 सेमी और तीसरी सबसे छोटी पोल 

की लंबाई 35 सेमी है।



There are six poles i.e. J, K, L, M, N and O of different lengths. Pole 

O is longer than pole M. Pole K is longer than pole O. Pole K is 

shorter than only pole N. Pole J is longer than pole O. Pole M is not 

the shortest pole. The length of 2nd longest pole is 62cm and 3rd 

shortest pole is 35cm.



7 People A, B, C, D, E, F and G are sitting around a circular table. In 

which 3 people are facing outside and 4 of them facing inside the 

circle. Only three people sits between A and G who is facing outside. 

D sits immediate left of G and B. The neighbour of E facing same 

direction. F is not an immediate neighbour of E but both are facing 

same direction. G sits third to the left of E. D is not facing outside. 

7 लोग A, B, C, D, E, F और G एक गोलाकार टेबल के चारों ओर बैठे हैं। नजसमें 

3 लोग बाहर का सामिा कर रहे हैं और उिमें से 4 घेरे के अंदर का सामिा कर रहे हैं। 

A और G के बीच केवल तीि लोग बैठते हैं जो बाहर का सामिा कर रहा हैं। D, G 

और B के तत्काल बाए ंबैठा है। E के पडोसी समाि नदशा का सामिा कर रहा है। F, 

E का तत्काल पडोसी िहीं है लेनकि दोिों एक ही नदशा का सामिा कर रहे हैं। G, E 

के बाए ंसे तीसरे स्थाि पर है। D बाहर का सामिा िहीं कर रहा हैं। 



7 People A, B, C, D, E, F and G are 

sitting around a circular table. In 

which 3 people are facing outside 

and 4 of them facing inside the 

circle. Only three people sits between 

A and G who is facing outside. D sits 

immediate left of G and B. The 

neighbour of E facing same 

direction. F is not an immediate 

neighbour of E but both are facing 

same direction. G sits third to the 

left of E. D is not facing outside. 



Nine persons A, Q, B, S, C, U, V, D and X. They live on a separate floor each of a nine 

floor building but not necessarily in the same order. The ground floor is numbered 1, the 

first floor is numbered 2 and so on until the topmost floor is numbered nine. D lives on 

an odd-numbered floor below floor number 5. There are two persons living between D 

and X. S lives on one of the odd numbered floors but not on floor number 7. There are 

two people sitting between V and B. U lives on floor number 6. Q lives on the top-most 

floor. V lives on an even numbered floor. B lives below V. C lives just above D’s floor .

िौ व्यनि A, Q, B, S, C, U, V, D and X. । वे एक अलग मंनजल पर एक िौ मंनजल की इमारत में रहते हैं 

लेनकि जरूरी िहीं नक एक ही क्रम में हों। भूतल की संख्या 1 है, पहली मंनजल की संख्या 2 है और इसी 

तरह जब तक सबसे ऊपरी मंनजल की संख्या िौ िहीं है। D, तल संख्या 5 से िीचे एक नवषम संख्या वाले 

तल पर रहता है। D और X के बीच दो व्यनि रहते हैं। S नवषम संख्या वाली मंनजलों में से एक पर रहता है, 

लेनकि मंनजल संख्या 7 पर िहीं। V और B के बीच में दो व्यनि रहते हैं। U मंनजल िंबर 6 पर रहता है। Q 

सबसे ऊपरी मंनजल पर रहता है। V एक सम संख्या वाली मंनजल पर रहता है। B, V से िीचे रहता है। C, D 

के तल से ठीक ऊपर रहता है।



Nine persons A, Q, B, S, C, U, V, D and X. They live on a 

separate floor each of a nine floor building but not 

necessarily in the same order. The ground floor is numbered 

1, the first floor is numbered 2 and so on until the topmost 

floor is numbered nine. D lives on an odd-

numbered floor below floor number 

5. There are two persons living 

between D and X. S lives on one of the 

odd numbered floors but not on floor 

number 7. There are two people 

sitting between V and B. U lives on 

floor number 6. Q lives on the top-

most floor. V lives on an even 

numbered floor. B lives below V. C 

lives just above D’s floor .



There are more than ten people sitting 

in a circle. Each of the seats occupied 

by one person. Each of them is facing 

inside the circle.

K is sitting third to L. B is sitting 

second to E. There are two people 

sitting in between E and M. I is an 

immediate neighbour of both J and A, 

but not sitting second to B. D and C are 

sitting second and third to B 

respectively. N is sitting second to M, 

but not seated to C. M is sitting third to 

the right of A. E is sitting third to J.

एक घेरे में 10 से अनिक व्यनि बैठे हैं | 

प्रत्येक सीट पर एक व्यनि बैठा है |उिमें से

प्रत्येक का म ख कें द्र की ओर है |K,L से

तीसरे स्थाि पर बैठा है | B,E से दूसरे स्थाि

पर बैठा है | E and M के मध्य दो व्यनि बैठे

हैं | I,J and A दोिों का निकटतम पडोसी

है, लेनकिB से दूसरे स्थाि पर िहीं बैठा है | D

and C,B से क्रमशः दूसरे व तीसरे स्थाि में

बैठे हैं| N,M से दूसरे स्थाि पर बैठा है

,लेनकि C से दूसरे स्थाि पर िहीं है | M, A 

के दाई ंओर से दूसरे स्थाि पर बैठा है | E,J 

से तीसरे स्थाि पर बैठा है |



There are more than ten people sitting 

in a circle. Each of the seats occupied 

by one person. Each of them is facing 

inside the circle.

K is sitting third to L. B is sitting 

second to E. There are two people 

sitting in between E and M. I is an 

immediate neighbour of both J and A, 

but not sitting second to B. D and C are 

sitting second and third to B 

respectively. N is sitting second to M, 

but not seated to C. M is sitting third to 

the right of A. E is sitting third to J.



Q.1-2. Study the given information carefully and answer the 

following questions. Point Q is 16m north of point W. Point A is 

10m west of point K. Point S is 5m west of point W. Point K is 9 m 

north of Point P. Point S is 25m south of point A..

दी गई जािकारी का ध्यािपूववक अध्ययि करें और निम्िनलनखत प्रश्नों के उत्तर 

दें। नबंद  Q, नबंद  W के उत्तर में 16 मीटर की दूरी पर है। नबंद  A, नबंद  K के 10 

मीटर पनिम में नस्थत है। नबंद  S, नबंद  W से 5 मीटर पनिम में है। नबंद  K, नबंद  P 

के 9 मीटर उत्तर में नस्थत है। नबंद  S, नबंद  A के 25 मीटर दनषिण  में है।



Q.1-2. Study the given 

information carefully 

and answer the following 

questions. Point Q is 16m 

north of point W. Point 

A is 10m west of point K. 

Point S is 5m west of 

point W. Point K is 9 m 

north of Point P. Point S 

is 25m south of point A..



Q.1. What is the direction of Point K with respect to Point S? 

नबंद  S के संबंि में नबंद  K की नदशा क्या है?

(1)East (2) South (3) North-east (4) South-east (5) North-west 

Q.2. If point T is west of point P and north of point S, then what 

is the distance between T and A? 

यनद नबंद  T नबंद  P के पनिम और नबंद  S के उत्तर में है, तो T और A के बीच 

की दूरी क्या है?

(1)16m. (2) 25m. (3) 10m. (4) 9m. (5) 5m. 



Eight persons - A, B, C, D, E, F, G and H 

were born in different months of January to 

August of the same year but not necessarily 

in the same order. Not more than one person 

is born in a month. G was born in a month 

that has 31 days but not in the month of 

May. There is a gap of one month between G 

and A. A born somewhere after G. B was 

born in the month which has the least 

number of days. E was born immediately 

after C. Number of persons born before E is 

one more than the number of person born 

after E. F born before D. There is a gap of 

two months between A and H.

आठ व्यदि - A, B, C, D, E, F, G और H एक ही 

वषण के जनवरी से अगथत के दवदभन्न महीनों में पैिा

हुए िे लेदकन जरूरी नहीं दक इसी क्रम में हों। एक 

महीने में एक से अदिक व्यदि का जन्म नहीं होता ह।ै 

G का जन्म उस महीने में हुआ िा दजसमें 31 दिन होते 

हैं लेदकन मई के महीने में नहीं। G और A के बीच 

एक महीने का अंतर ह।ै A, G के बाि कहीं पैिा हुआ 

ह।ै B उस महीने में पैिा हुआ ह,ै दजसमें दिनों की 

संख्या सबसे कम ह।ै E, C के ठीक बाि पैिा हुआ 

िा। E से पहले पैिा हुए व्यदियों की संख्या E के बाि 

पैिा हुए व्यदियों की संख्या से एक अदिक ह।ै F का 

जन्म D से पहले हुआ ह।ै A और H के बीच िो महीने 

का अंतर ह।ै 



Eight persons - A, B, C, D, E, F, G and H were born in different 

months of January to August of the same year but not necessarily in 

the same order. Not more than one person is 

born in a month. G was born in a month 

that has 31 days but not in the month of 

May. There is a gap of one month 

between G and A. A born somewhere 

after G. B was born in the month which 

has the least number of days. E was born 

immediately after C. Number of persons 

born before E is one more than the 

number of person born after E. F born 

before D. There is a gap of two months 

between A and H.



Eight employees J, K, L, P, Q, R, A and B give a 

presentation on four different months of the year viz. 

January, April, August and September, such that not 

more than two employees give their presentations in each 

of the months. Presentations can be given on either the 

5th or 10th day of the month. No two presentations can 

be given on the same day. J gives a presentation on 10 

April. There are five presentations between the 

presentations of Q and L. More than two-person give 

presentations between the presentations of R and A. 

There are two presentations between the presentations of 

L and J. R and Q give the presentations in the same 

month. B gives a presentation after K. The number of 

employees who give presentations between the 

presentation of A and B is the same as the number of 

employees who give a presentation between the 

presentation of K and Q. R gives a presentation in 

September.

आठ कमणचारी ज,े के, एल, पी, क्य,ू आर, ए और बी साल के 

चार अलग-अलग महीनों पर एक प्रथतदुत ितेे हैं। जनवरी, 

अपै्रल, अगथत और दसतंबर, जैसे दक प्रत्येक महीने में िो से

अदिक कमणचारी अपनी प्रथतदुतयाँ न िें। प्रथतदुतयाँ महीने की 5 

या 10 तारीख को िी जा सकती हैं। एक ही दिन में िो 

प्रथतदुतयाँ नहीं िी जा सकतीं। J 10 अपै्रल को एक प्रथतदुत

ितेा ह।ै Q और L की प्रथतदुतयों के बीच पाँच प्रथतदुतयाँ हैं। R 

और A की प्रथतदुतयों के बीच िो से अदिक व्यदि प्रथतदुतयाँ 

ितेे हैं। L और J की प्रथतदुतयों के बीच िो प्रथतदुतयाँ हैं। R 

और Q एक ही महीने में प्रथतदुतयाँ ितेे हैं। B, K के बाि एक 

प्रेजेंटेशन ितेा ह।ै A और B के प्रेजेंटेशन के बीच प्रेजेंटेशन िनेे 

वाले कमणचाररयों की संख्या उतनी ही ह ैदजतनी दक K और Q 

की प्रेजेंटेशन के बीच प्रेजेंटेशन िनेे वाले कमणचाररयों की संख्या 

ह।ै R दसतंबर में पे्रजेंटेशन ितेा ह।ै



Eight employees J, K, L, P, Q, R, A and B give a 

presentation on four different months of the year viz. 

January, April, August and September, such that not 

more than two employees give their presentations in each 

of the months. Presentations can be given on either the 

5th or 10th day of the month. No two presentations can 

be given on the same day. J gives a presentation on 10 

April. There are five presentations between the 

presentations of Q and L. More than two-person give 

presentations between the presentations of R and A. 

There are two presentations between the presentations of 

L and J. R and Q give the presentations in the same 

month. B gives a presentation after K. The number of 

employees who give presentations between the 

presentation of A and B is the same as the number of 

employees who give a presentation between the 

presentation of K and Q. R gives a presentation in 

September.


